LABJNDu2 standard lightnessL* m LABJINDu? relative standard lightnessL*/L* ,
L* Y=L w nc=100, 7K, YocmL*w nc=100,

L*Laganpu2=IN(A1n+A2nY)(A2nAcn)  (Yno/100<Y<=Y,o) L* LaganDu2=IN(A1n+A2nY)/(A2nAon)  (Yae/100<Y<=Y,c)
L*Laganpu2=IN(A1ntA20X)/(A2iAon) - (X=YTYy) L1 AganDu2=IN(A 10t A2 ) (A2iAon) - (X=YTY)
L*(3,6)=174.L* ,(18)=396L* ,/(90)=616 L* (3,6)=174L* ,(18)=396 L* (90)=616

log[L*/L* ,]=0, m,=0,33
L*,=49,L* ,=396

loglL* /L,

L*,=49,L* _396

LABJINDu2 Iog(AY/AY) LABJINDu?2 relative

tristimulus value difference AY/AY, tristimulus value difference

Yoc=L* w nc=100, u Yne=L*w ne=100,
L* LaganDuz=IN(A1n+A2nY)(A2rAcn) - (Yao/100<Y<=Yyo) L* Laganpu2=IN(A1n+A2nY)/(A2nAon)  (Yn/100<Y<=Y,o)
L*Laganpuz=IN(A1n+A20)/(A2iA0n)  (X=Y/Yy) L* | AganDu2=IN(A 10t A2 ) (A2iAon) - (X=YTYy)
dY=Aon(A1ntAznY)=Aon(A1ntAzuX) XYYy AY/dY=(AqntA2 )/ (A1n+Agy)
Aon,pe51,5, Agn,a=1,0, see CIE 230:2019

p

aT)pTiczuE)n- a;plicatijn-
range 1 range
Iy =
%=1
xN=0,2 Xw=5 = Xw=5

log (AY/Y) LABJINDu2 log [(AY/Y) I (AYIY)] LABJINDu? relative
tristimulus value sensitivil tistimulus value sensitivit;
S=@YM) it SUSU=(YIVIAYIY), \LLS VELE RSV

L*Laganpu2=IN(A1n+A2nY)(A2rAcn) - (Yao/100<Y<=Yyo) L* Laganpu2=IN(A1n+A2nY)/(A2nAon)  (Yn/100<Y<=Y;c)

L* Laganpuz=IN(A1ntA20)/(A2iAon)  (X=Y/Yy) L ABanDu2=IN(A 10t A20) (A2iAon) - (X=YTYy)
AY/Y=Agn(A1ntA2nY)Y=Aon(A1ntAzX)/ Y @YNYYAYINV)=[A1n+A2) /Xl (A 10+ Azy)
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| log@Y/YE-2,07 m=013 < _ — application

*,7396 0Y,=0,15 dY,/Y,=0.0084 ~ ' °'9° log[(dY/Y(dY/Y)]=0, m=-0,13 T
. * =396 dY,=0,15 d¥,/Y,=0,0084  ARC
=1 =1

XxN=0,2 Xw=5 XN=0,2 Xw=5

log (Y/AY) LABJINDu2 log [(Y/AY) I (YIAY),] LABJINDu?2 relative
tristimulus value contrast tistimulus value contrast

C=(YAY) s VAl o CIC=(YIBV(YIBY), A e YauE o0
L*LaganDu2=IN(A1n+A2nY)(A2rAcn) - (Yao/100<Y<=Yyo) L* Laganpu2=IN(A1n+A2nY)/(A2nAon)  (Yac/100<Y<=Y,o)
L*Laganpu2=IN(A1ntA20)/(A20A0n) - (X=Y7Yy) L* LaBanDu2 =IN(A 10t A2 X)/(AguAon) - (X=YTY)
Y/AY=Y/[A on(A1ntAznV)I=X Y/ [Aon(A1n+AzuX)] (YIYY(YIAY) =[x/ (A A )V (A 10+A2y)

v7396 dY,=0.15 Y/dY,=117_ __ _ _, log[(Y/dY(Y/dY),]=0, m=0,13
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Iog(Y/dYFZ,OZ m,= 0;1/3/ ~ —— *,=396 dY,=0,15 Y /d¥. L7~

. application v application
: range range

Q=L
IXw=5 XN=0,2 Xw=5




